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TESTUNIT 2 PLANTS

1. Choose the correct option about the parts of a plant. Then,
use the words in the boxes to complete the sentences.

The make food.
The hold the
plant up and connect roots and
leaves.

The fix the plant

to the ground and absorb water
and minerals.

2. Complete the sentences using the words in the box.

Air, are born, water, grow, minerals, die, reproduce, sunlight

All plants need v , and

All plants . ' and
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3. What part of the flower is?

4. Label in the correct order. ;©’f

Photosynthesis \’
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carbon dioxide sunlight water

food minerals oxygen
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5.Match

- It has a green and flexible stem. @

- It has a big and woody stem called 'rr'unk.

- It has a woody stem, but no trunk@

- Plants lose their leaves in autumn .

- Plants always have leaves @)

6 Drag and drop to put in order the food chain.
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